ABSTRACT STATEMENT OF ELECTION EXPENSES

Part-I

Name of Candidate:

: N.S.SIVARAJ

Number and name of Constituency: 106 GOBICHETTIPALAYAM ASSEMBLY CONSTITUENCY

Name of State / Union Territory: : TAMIL NADU

Nature of Election : GENERAL ELECTION:

Date of declaration of result : 13.05.2011.

Name and Address of the Election Agent: K.P.Nandhakumar,

S/o.K.M.Palanisamy, Kallankattuvalasu,

Polavakkalipalayam (Po),

Gobichettipalayam (Tk),

Erode (Dt).

Signature of the Candidate

Part-ll

I. Were you a candidate set up by a Political Party? : Yes

II. If yes, name of the party : KONGU NADU MUNETRA

KAZHAGAM

III. Is the Party a recognised Political Party? : No

IV. If recognized political party, whether National/ State Party: --

V. Has your party incurred/authorized expenses in your election?: No

Vł. Any other association/ body of persons / individual incurred/

authorised expenses in your election?

: No

VII. If yes, give its/his/their name(s) and complete address : (1) Not Applicable

Signature of the Candidate

PART III

ABSTRACT STATEMENT OF EXPENDITURE ON ELECTION BY THE CANDIDATE/HIS ELECTION AGENT

		Expenditur	/ authorized	Total Expenses	
Sl. No.	ltem of Expenditure	Candidate / his Election Agent	by Political Party which set him up	Any other Association/ Body of Persons / Individual	incurred/ Authorised (Total of Columns 2,3 & 4)
1.	2.	3,	4.	5.	6.
		Rs.	Rs.	Rs.	Rs.
1.	Public meetings, processions, etc.	83,099			83,099
2.	Campaign materials, like [,] handbills,posters, video and audio cassettes	88,274			88,274
3.	Campaign through electronic/print media (including cable network)	2,06,221			2,06,221
4.	Vehicles used and POL expenditure on such vehicles	4,32,950			4,32,950
5.	Erection of gates, arches, cusouts, banners, etc.	11,009			11,009
6.	Visits of 'leaders' to the constituency (other than the expenditure on the travel of 'Leaders' as defined in Explanation 2 under Section 77(1) for propagating programme of the	NIL	NIL	NiL	NIL
7.	Visit of other party functionaries	NIL	NIL	NiL	NIL
8.	Expenses on Campaign workers	NIL	NIL	NiL	NIL
9.	Other misc. Expenses	32,863			32,863

GRAND TOTAL Rs. 8,54,416/-

Signature of the Candidate

Lump-sum grant received, if any, from -

1.	Political Party	NIL	
2.	Any other association/body (with its name and address)	NIL	
3.	Any individual (with name and address)	NIL,.	

N. S. Signature of the Candidate

PART - IV

DETAILS OF EXPENDITURE ON VEHICLES USED

Details of expenditure on all vehicles used in connection with the election including the vehicles supplied to candidate by his Political Party or any other association/organization/body or by any other individual are required to be shown. The only exception is the expense incurred in connection with travel of 'leaders' of political party for propagating programme of political party covered by Explanations 1 and 2 under Section 77(1).

			Ra	ite for hiri	ng	No.		Break-up of total expenditure of Column 6		
Regn. No. of Vehicle	Type of Vehicle	Vehicle Permit No. issued by RO	Rate for hiring of vehicle / mainte- nance	Fuel charges (if not covered under hiring)	Driver's charges/ (if not covered under hiring)	of days for which used	Total Amount incurred	Amount spent by the candida te/ Election Agent	Amou nt spent by the Politic al Party	Amount spent by any other association / body of persons/ individual
1	2	3	4a	4b	4c	5	6	7	8	9
TN 38 AV 9880	Mahendra Maxx (Non-A/c)	5/2011	1450			6	8,700	8,700		
TN 38 AV 9880	Mahendra Maxx (Non-A/c)	30/2011	1450			14	20,300	20,300		
TN36 C 6446	Tata Sumo	6/2011	1450			6	8,700	8,700		
TN38 C 2288	Qualis (A/c)	4/2011	1600			6	9,600	9,600		
TN38 C 2288	Qualis (A/c)	20/2011	1600			14	22,400	22,400		
TN 36 L 0099	Inova (A/c)	3/2011	1600			6	9,600	9,600		
TN 36 L 0099	Inova (A/c)	19/2011	1600			14	22,400	22,400		
TN 36 K 8902	Tata ACE	25/2011	1050			15	15,750	15,750		
TN 36 K 0934	Tata ACE	26/2011	1050			15	15,750	15,750		
TN 57 T 6646	Tata ACE	27/2011	1050			7	7,350	7,350		
TN 36 M 4435	Tata ACE	28/2011	1050			15	15,750	15,750		

		,	Ra	te for hiri	ng	No.			of total of Colum	expenditure in 6
Regn. No. of Vehicle	Type of Vehicle	Vehicle Permit No. issued by RO	Rate for hiring of vehicle / mainte- nance	Fuel charges (if not covered under hiring)	Driver's charges/ (if not covered under hiring)	of days for which used	Total Amount incurred	Amount spent by the candida te/ Election Agent	Amou nt spent by the Politic al Party	Amount spent by any other association/ body of persons/ individual
1	2	3	4a	4b	4c	5	6	7	8	9
TN 33 AM 9128	Tata ACE	29/2011	1050			15	15,750	15,750		
TN 36 M 0994	Tata ACE	22/2011	1050			15	15,750	15,750		
TN 37 BC 7024	Tata ACE	46/2011	1300			13	16,900	16,900		
TN 36 M 8076	Maruthi Omni	45/2011	1300			13	16,900	16,900		
TN 37 F 1194	Tata 407	23/2011	1400			2	2,800	2,800		
TN 57 K 1419	Mahindra Champion	24/2011	1050			2	2,100	2,100		
TN 36 J 7212	Tata ACE	79/2011	1050			7	7,350	7,350		
TN 36 M 5851	Tata ACE	80/2011	1050			7	7,350	7,350		
TN 36 M 8464	Ape Car	85/2011	1,050			5	1,050	5,250		
TN 34 J 5751	Tata Ace	84/2011	1,050			5	1,050	5,250		
TN 36 L 5533	Tata Acc	83/2011	1,050			5	1,050	5,250		
TN 38 X 2288	Qualis	94/2011	1,600			1	1,600	1,600		
TN 36 K 3477	Scarpio	95/2011	1,600			1	1,600	1,600		
TN 36 L 0099	lnova	96/2011	1,600			1	1,600	1,600		
TN 36 M 7887	Swift	3/2011	1,600			1	1,600	1,600		
TN 36 L 0099	Inova	4/2011	1,600			l	1,600	1,600		
TN36 C 6446	Tata Sumo	21/2011	1,450			14	20,30	20,300		

			Ra	te for hirir	ng	No.			o of total of Colum	expenditure n 6
Regn. No. of Vehicle	Type of Vehicle	Vehicle Permit No. issued by RO	Rate for hiring of vehicle / mainte- nance	Fuel charges (if not covered under hiring)	Driver's charges/ (if not covered under hiring)	of days for which used	Total Amount incurred	Amount spent by the candida te/ Election Agent	Amou nt spent by the Politic al Party	Amount spent by any other association / body of persons/ individual
1	2	3	4a	4b	4c	5	6	7	8	9
TN 38 V 5029	Car	Without Permission	1,600			1	1,600	1,600		
TN 30 P 3939	Car	Without Permission	1600			1	1,600	1,600		
TN 33 AV 6369	Car	Without Permission	1600			1	1,600	1,600		
TN 36 M 7113	Car	Without Permission	1600			1	1,600	1,600		
TN 36 M 7113	Car	Without Permission	1600			1	1,600	1,600		
TN 36 2223	Car	Without Permission	1600			1	1,600	1,600		
TN 36 V 4019	Auto	Without Permission	900			1	900	900		
TN 36 T 9684	Car	Without Permission	1250			1	1,250	1,250		
TN 37 9731	Car	Without Permission	1300			1	1,300	1,300		
TN 36 M 9656	Car	Without Permission	1300			1	1,300	1,300		
TN 49 P 8007	Car	Without Permission	1400			1	1,400	1,400		
TN 55 J 9578	Car	Without Permission	1400			1	1,400	1,400		
TN 40 X 1299	Car	Without Permission	1050			1	1,050	1,050		
TN 39 B 2982	Car	Without Permission	1050			1	1,050	1,050		
TN 13 4484	Car	Without Permission	1050			1	1,050	1,050		
TN 36 L 2790	Car	Without Permission	1050			ı	1,050	1,050		
TN 39 AD 376	Car	Without Permission	1050			1	1,050	1,050		
TN 39 H 939	Car	Without Permission	1050			1	1,050	1,050		
TN 13 3484	Car	Without Permission	1050			1	1,050	1,050		

·		6 7/11	Ra	te for hirir	ıg	No.			o of total of Colum	expenditure in 6
Regn. No. of Vehicle	Type of Vehicle	Vehicle Permit No. issued by RO	Rate for hiring of vehicle / mainte- nance	Fuel charges (if not covered under hiring)	Driver's charges/ (if not covered under hiring)	of days for which used	Total Amount incurred	Amount spent by the candida te/ Election Agent	Amou nt spent by the Politic al Party	Amount spent by any other association / body of persons/ individual
1	2	3	4a	4b	4c	5	6	7	8	9
TN 36 4524	Car	Without Permission	1050			1	1,050	1,050		
TN 36 P 6403	Car	Without Permission	1050			1	1,050	1,050		
TN 36 L 4077	Car	Without Permission	1050			1	1,050	1,050		
TN 36 H 2656	Car	Without Permission	1050			1	1,050	1,050		
TN 67 E 6625	Car	Without Permission	1050			1	1,050	1,050	'	
TN 36 P 1878	Car	Without Permission	1600			1	1,600	1,600		
TN 07	Car	Without Permission	1600			1	1,600	1,600		
TN 36 W 5850	Car	Without Permission	1600			1	1,600	1,600		
TN 45 A 1392	Car	Without Permission	1600			1	1,600	1,600		
TN 04 AD 9999	Car	Without Permission	1600			1	1,600	1,600		
TN 36 G 4567	Car	Without Permission	1600			1	1,600	1,600		
TN 36 M 2345	Car	Without Permission	1600			1	1,600	1,600		
TN 38 AT 8840	Car	Without Permission	1600			1	1,600	1,600		
TN 36 Q 4567	Car	Without Permission	1600			1	1,600	1,600		
TN 36 K 4477	Car	Without Permission	1600			1	1,600	1,600		
TN 02 C 7202	Car	Without Permission	1600			1	1,600	1,600		
TN 33 AE 4445	Car	Without Permission	1600			1	1,600	1,600		
TN 56 B 1002	Car	Without Permission	1600			1	1,600	1,600		

.

			Ra	te for hirir	ıg	No.		Break-up of total expenditure of Column 6		
Regn. No. of Vehicle	Type of Vehicle	Vehicle Permit No. issued by RO	Rate for hiring of vehicle / mainte- nance	Fuel charges (if not covered under hiring)	Driver's charges/ (if not covered under hiring)	of days for which used	Total Amount incurred	Amount spent by the candida te/ Election Agent	Amou nt spent by the Politic al Party	Amount spent by any other associatio / body of persons/ individua
1	2	3	4a	4b	4c	5	6	7	8	9
TN 36 H 9030	Саг	Without Permission	1050			1 -	1,050	1,050		
TN 33 AP 5488	Car	Without Permission	1300			1	1,300	1,300		
TN 36 H 8888	Car	Without Permission	1600			1	1,600	1,600		
TN 05 T 6131	Car	Without Permission	1600			1	1,600	1,600		
TN 33 Q 4567	Car	Without Permission	1600			1	1,600	1,600		
TN 07 BH 1234	Car	Without Permission	1600			1	1,600	1,600		
TN 23 AF 6642	Car	Without Permission	1600			1	1,600	1,600		
TN 30 AF 8888	Car	Without Permission	1600			1	1,600	1,600		
TN 22 AW 2728	Car	Without Permission	1050			1	1,050	1,050		
	15 Vehicles	Without Permission	1600			15	24,000	24,000		
TN 28 R 0003	Car	Without Permission	1450			1	1,450	1,450		
	Car	Without Permission	1300			7	9,100	9,100		
	Omni	Without Permission	1150			1	1,150			
	Batta		150			8	1,200	<u> </u>		
	Car	Without Permission	1450			4	5,800			
TN 30 H1245	Car	Without Permission	2500			1	2,500			
TN 34 H6151	Car	Without Permission	2500			1	2,500	2,500		

			Ra	te for hirir	ıg	No.			of total	expenditure
Regn. No. of Vehicle	Type of Vehicle	Vehicle Permit No. issued by RO	Rate for hiring of vehicle / mainte- nance	Fuel charges (if not covered under hiring)	Driver's charges/ (if not covered under hiring)	of days for which used	Total Amount incurred	Amount spent by the candida te/ Election Agent	Amou nt spent by the Politic al Party	Amount spent by any other association / body of persons/ individual
1	2	3	4a	4b	4c	5	6	7	8	9
TN 23 AH 1949	Car	Without Permission	1050			1	1,050	1,050		
TN 34 E 8687	Car	Without Permission	2500			1	2,500	2,500		
TN 31 R 9905	Car	Without Permission	1600			1	1,600	1,600		
TN 34 3207	Car	Without Permission	1600			1	1,600	1,600		
TN 33 AX 8888	Car	Without Permission	1600			1	1,600	1,600		
TN 33 AL 6541	Car	Without Permission	1600			1	1,600	1,600		
TN 36 W 9798	Car	Without Permission	1600			1	1,600	1,600		
TN 42 Z 1235	Car	Without Permission	1600			1	1,600	1,600		
TN 36 J 636	Car	Without Permission	1300			1	1,300	1,300		
TN 33 AE 6296	Car	Without Permission	1300			1	1,300	1,300		
TN 33 X 9149	Car	Without Permission	1300			1	1,300	1,300		
TN 36 W 2896	Car	Without Permission	1300			1	1,300	1,300	~~	
	Omni	Without Permission	1300			7	9,100	9,100		
	Tata ACE	Without Permission	1050			1	1,050	1,050		

Grand total of Column 6: Rs.4,32,950/-

N & Sommy
Signature of the Candidate

PART-V

DETAILS OF EXPENDITURE ON PUBLIC MEETINGS/RALLIES

(Each Public meeting/Rally/Procession held by the candidate/his election agent/his political party/any other association/organization/ body/any other individual on behalf of the candidate should be mentioned in this format)

Total Number of public meetings 6

Total expenditure: Rs. 83,099/-

1.	2.	3.		4.	5.	6.	7.		
Date of Public meeting/ Rally	Address of Venue	Name of Authority from whom permission obtained	Expenditure on Rallies/F				Amount incurred by candidate / Election Agent	Amount incurred by Political Party and	Amount incurred by any other Association
	Name of the Star Campaigner / Outside Dignitary (If Any)	Reference No. and Date of permission	Description	Qty	Rate per unit	Total Amount		name of the Party	body / Individual and names of such persons
31.03.11	Kushboo (Nambiyur	R.O. Meena	Erecting Pandal & Fixtures			3200	3200		
	Kurumandur medu Modachur, Periyar Thidal, Kasipalayam)	Priyadhar- sini 2023/ 2011/அ1)	Arches & Barricading			1740	1740		
31.03.11	M.Karunanidhi (V.O.C. Park,	do	Hiring furniture			4164	4164		
	Erode)		Hiring Loudspeakers & Microphones			18250	18250		
01.04.11	E.V.K.S.		Posters						
	Elangovan Periyar Thidal, Gobi	do	Banners Cut-outs			1760	1760		
05.04.11	M.K.Stalin		Digital Board	-					
	(Nambiyur, Kurumandur, Periyar Thidal, Gobi)	do	Illumination items like Scrial Lights, etc.			21018	21018		
05.04.11	M.K.Stalin (Nambiyur, Kurumandur, Periyar Thidal, Gobi)	do	Power connection charges paid/ payable to EB etc.						

1	Raagulgandhi (Erode Vellalar	do	Rent for venue	 	200	200	·	
	College)		Other Miscellaneous Expenses	 	32767	32767		
11.04.11	Kanimozhi (Gobi, Kolappalur)	do						
			Total		83,099	83,099		

Dated: 9-6-2011

NE Signature of the candidate

Part-VI

DETAILS OF EXPENDITURE ON TRAVEL OF LEADER(S) OF THE PARTY
NOMINATED IN TERMS OF 'EXPLANATION (2)' UNDER SECTION 77(1) OF THE
REPRESENTATION OF THE PEOPLE ACT, 1951

		cy	Arrival Details			ls of	Departur	Departure Details			1 (5)
SI.No.	Name of the Leader	Date of Arrival in Constituency	Mode of Travel	Expenditure of Fare paid (If known)	Duration of Halt in Constituency	Expenditure on Local	Date of Departure from Constituency	Mode of Travel	Expenditure of Fare paid (if known)	Whether Expenditure on item (7) and (10) incurred Candidate, Political Party others specify	Expen (7) an
1	2	3	4	5	6	7	8	9	10	11	12
1.											

Total Expenditure: NIL

Place: Gobichettipalayam

Candidate:

Date: 09.06.2011

Candidate:

Signature of Contesting Candidate

(N.S.SIVARAJ)

Name of Contesting Candidate